Acceleration Due to Gravity Ch9 Physics
Science 10 Notes

What is Gravity

Gravity is a force that acts on objects. Itis a force that pushes d() AN
The force of gravity is constant which means that acceleration due to
gravity is also CO\’\‘D\'Q({\'

Acceleration due to Gravity (g)

* 9= a3 m!sl [d"“’“] or g= —Ci.%misl

* note the sign and the direction

o While gravity is constant, there are ways to reduce the effective

acceleration due to gravity:

o Liftis aforce that pushes the object jP
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Calculations Involving g

We can use the same triangle that we do foigcceleration, velocity and

time intervals, keeping in mind that here, _G.__is replaced with %_
e Remember that the positive direction is _UP

e Acceleration due to gravity is always down and is

therefore a Y\ESO}(NC value.
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Practice Problems:

1. Whatis the change in velocity of a hailstone that falls for 3.0 s?
—
AV= -4 'k
= (Cabmls)x (3.09)

= -9 m /é
2. Aballis thrown up into the air. How much time does it take to go
from 16m/s [up] to 2.0 m/s [up]? Z‘R\l
NERVISRVA BA: g
= +0mls — @()mls) = —|dm]s
2
= ..-\L\'m[E, "OI,S MIS

Atz 1.43s

3. Arock is thrown up into the air with an initial velocity of 14m/s
[up]. What will be the velocity after 0.61 seconds?

A= g-at Ve = 1Hmls
(- a8mf2) x(0.bls) AN=Ng -V
NZ = Lom)s Vg = 4 Sms

4. A brick falls from the top of a chimney. What is the velocity of the
brick after 1.5 s? reY
oIt AN = 3 At

V.= 0 Ny = -\t
(98 mfs)(13s) or
>
AV |4 mls 14
5. Aballis thrown straight up into the air at 12m/s. How long does it
take for the ball to reach its maximum height?
- BT\]
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N = —2ms ~0.8 s
6. Arockis thrown downward from a roof at 11m/s. What is the
velocity of the rock after 0.75 s?
N = il
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